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Hemchandracharya North Gujarat University PHD Exam

Exam Name : HNGU_PHD_Political Science 31.01.2024_12.00 PM TO 02:00 PM
Exam Date : 2024-01-31

Exam Time : 12:00:00 PM To 02:00:00 PM

Total Marks : 100

Note : The correct answer is indicated by the green color. ALl
¥cllol Glal 31 GlRL yUddIHi w1 8.

Question List:

Section: Section-A

Characteristics of research include which of the following? -

2yt M iclAd 1Ml s W I dallYHIAAAIUD? [ 1 Mark |

Research is a logical process - AedARdI5sulsau1d

Research demands certainty - UAHAASSULEH D

Research is a patient process - %{anudﬂmwtﬁssm IHiladlulsuld
All given - ¥1Ud dHIH

What is studied in a case study? - 3-22SIHi 211o1l240ALH SAIHi 211d & [ 1 Mark |

= A study of someone - S16u s (Sl A ey LY
= An institutional study - 3% Al le1] WYY

= A community study - w5 Hlii.lufn W& Y

= Above all - GURell WY 1%

In which research method is it necessary to test the effect of grooming on the sample characters? -
$86 A2l Uegldui etyetloll ULl U HId%doll AR USIA] %3 82 [ 1 Mark |

s Experimental method - N EE] uu;f&

» Cause-comparative method - SRQl-{LC‘Mld-lSLli(,El
= Developmental method - [&Sl%{c‘l&ﬂl—l%[a

» Historical method - aﬂélﬁifsl{t(,fa

Data used by an agency which is originally collected them are: - vogaRil fARA} GualaMi Aqui
v ddl HilEd] B Yoned dHa dIs[Ed sAMi 241 8 d 8: [ 1 Mark |

= Primary data vtes uilfedl
= Raw data - SI{HL[SA]

= Secondarydata - [sulcsAllast
= Grouped data - °§911-ll[:5,<ﬂ

Which of the following is not included in the source of primary data. -
oflAstiHiellsulutaisHISdla Rl duiuHL[destel. [ 1 Mark |



RBI report - RBI «l31U12
Group discussion - °§(9Rlllf
Interview - H4l5ld
Observation - 3d ¢Sl

Which of the following pairs is considered to be the primary source of both research papers? -
oflAu Ul SIANUSL s SN Sed Loia A tet-u LN U 1L A SBN AL [ 1 Mark |

Research report and research paper - A2AustnSdld A UAUYR
Research report and research paper - UM S IgWAdLAUIRILL
Rescarch Paper and Research Summary - 320 teUU {0t R(QL

» Not even one of the given options - 306 [dsuq SN SURLA (S

What is not usually included in the historical research method? -
A (dsLAsA2MUotuegdidLH U d:2A ey H I A dl1e(l? [ 1 Mark |

= statistical analysis - 2*{'[35[2[[%1'1211{?1652&[#]
Getting Result - URRIIMIANdd [+

Data collection - HL[E{1A 551 52131s1]

Review of literature - A ¢0l{s11 (A Ustel)

Which of the following is an appropriate unconventional statistical test for data measuring scale? -
Hll&dlHIUslsS st IRAU A AMISS 12013 ASH 2| Al GUUILSALGRUAD? [ 1 Mark |

Identification and interval - 3K ABIdR1E
Identification and sequence - UQUIU{U{QU{{LSH
Interval - ¥{d21€

Intervals and ratios - 2 GWARdR

Cricket run data is related to which kind of scale? - [§32¢l12e12 5 IUSIRe(lMI[Ecdle2{AD? [1
Mark |

Nominal scale - sl 14U |2t 2Q(Nominal)
Ordinal scale - $Hd 13 58128|(Ordinal)
Interval scale - Uid?.lc'lhl-l?.'%l(lnterval)
Ratio scale - ¥{dR1€&8| (Interval)

What type of tool is useful for measuring a capacity? -
SIS UALALMIUAHI2SUIUS15,BUSAGUAL{NS? [ 1 Mark |

» Questionnaire - ysiladl
Hierarchy- $HHIUES
Visit - SHHIUES
Testing - 5412l

What is a pilot study?-l-llu-lfsl&z‘{(‘ﬂlﬂilj@? [ 1 Mark |

A study involving pilots.-UIALPLSE1R8L 521 546U 14
A study to test the tool of data collection.-

UllsdlAASARAIUAAUS IAAIH 2ol MU LA
A small scale study.-ollsl U150 [H A 1A d1A S AU
A study that is conducted first time.-U&H RS0 [H [ [A A1 5104 14

Hypothesis which explain relationship between two variables is YRSl B 0] Y| gl
doita qHANA B d & [ 1 Mark |

= casual-3[1dd

= rational-d5¥9ld

. descriptive-QQ[dld-lS
» tentative-SIHYEIG



Stratified sample is used when the population is:

dleAEeleusg (el GUAPIRAURISAMIMIADBAIRAYHR  S1UD. [1 Mark |

= Homogeneous -HHY
Heterogeneous- [aendly
Too small - W oilo]
Very large-U{* H12l

Which of the following steps is/are involved in report writing: édld Quisiui «{lA=1uie]l sul
wldi A 872 [ 1 Mark |

Logical analysis of the subject matter- CRUEIRER NN GRINE]
Preparation of rough draft-2$ §l8€°ﬂ du R

Preparation the final bibliography-4 [du 3191%1\[2101’1 Al

All of these-GU1R1Sd dHIH

If the Critical region is evenly distributed then the test is referred as -2\ UR'CJ.'L{;[?[ Uz.2Us]
AUl [l 2dd Sl dl, uleist A3 Wiy 8. [ 1 Mark |

n 2 - tailed
= |- tailed
= 3-tailed
= (- tailed

The purpose of hypothesis testing is to:-U[RsGUs1l uletstedl éq v B: [ 1 Mark |

s To test how far the mean of a sample is from zero-(a1£.2lell He S %Ldl%ﬂ Sed) & 8d
USIUAL HIR

= Determine whether a statistical result is signiﬁcant-U{i.‘sSL‘;lll URRIH «AluulA 8
Al A [AYiRd s2

» Determine the appropriate value of the significance level-dlelsd el 581 )oY Y& o155|
SALHIR

= Derive the standard error of the data-HL(&d{l+{] UHIBLGd aa”l dlRadlHle

¢ Level of significance lies between:-12[Scllel] S8l ql ¥1dd 8. [ 1 Mark |

= -] and+1
= Oandn
= Qand1
m -00 10 +oo

e Why do you need to review the existing literature?-cdH 12 ddHlol AL[Eo(] Aulatl saledl 2l
HI2 % 8? [ 1 Mark |

= To make sure you have a long list of references-
WldIlsd M REdHIRIUIRUsellainly 1D

= Because without it, you could never reach the required word-count-5$ R.Ql?sawll[awll,
AR sURU LAY SRAGE-IARI AU 21521l E]

= To find out what is already known about your area of interest-clH12l 2[Ae1l AU
uédiell 9f Muild 8 d Aluai ure

» To help in your general studying-clH [R [ IH MR [1 59 [HiHeeeUd YD

« Sampling based upon equal probability is called:-4Hlel J el UR WHLRd [Aeledil sediui
1d 8: [ 1 Mark |

= Probability sampling-@ildeil A41dLRd (162t
= Quota sampling-!scnal (.2l

= Stratified sampling—%d?.ﬂld [e2leta)

= Simple random sampling 4201 4289 [e1&.2lel

e In cluster sa‘x_npling population is divided into clusters or groups which are -
Uil edAugg(duiduesaeAuadIgelHiaSy A8 8 [ 1 Mark |

= Homogeneous -HHoUdl



= Heterogeneous [anudl
» Both a and b-Gisl A ¥{B
= None of these-GUH &[] S1&=1(&

What is the probability of drawing an ace from a pack of 52 cards? - 52 Urilell 3i‘@{sl‘-li2ﬂ NEQ|
vilddleil Aeildeil 32€l? [ 1 Mark |

» 1/52
s 2/52
s 4/12
= 1/13

Who invented the Chi-Square test?-SL5-c1o] U[R&1Q1+{l 201t $1Q| 53] &cll? [ 1 Mark |

= Pearson-(UdAel

. Spearman-%*ﬂd?.ﬂ"i
= Kendall-5o51¢

= Fisher-[621R

T-test is also known as t-test of 2. 2l-uRael 4 ol 2l-ulRatel dld ywl
vlnvidiHi 2iid 872 [ 1 Mark |

student-2¢Se2
School-¥§4
Teacher-2142
Principal- [Ueilulg

The total area under the normal distribution is 2- UHIRY ds &6Uleil 54 ([ddR sly
82 [ 1 Mark |

0
1
95
99

Which of the parametric tests is used to test the hypothesis of a significant difference in the mean of
more than two groups?-01 8l dy] ogelleil 42121 (Hras) Hi Alels dslddeil Ulseus sl
YsIARI sl HI2 Wil et WS s34 uRatet aiudiHi 2119 872 [ 1 Mark |

One sample t-test-015 E‘l&%[ 2l- U.ﬁ.&lQl
Independent sample t-test-2<ld= [eel & - uRasl
Correlated sample t-test-d0i [t gi&.%[ 2l- U.ﬁ?;l'%l
ANOVA test-ANOVA U[R&13l

Which of the non-parametric tests is used to test the hypothesis of a significant difference in the
means of the pre-test and post-test?-l-LCf su1el (pre-test) Val Gri sA12l (post-test) cil HR12l
Mrus) Ui Alels dslddeil ulseusiloll AsiIue0l sl 1R (Gel-uiadly uRere Usl 53
Rl diydiMi vi1d 82 [ 1 Mark |

Wilcoxon test-(cles) &lel UR 131
Mann-Whitney test-Hlol-cS| 2<il l-lﬁ_&lQl
Kruskal-Wallis test-535@-dlefly uRe1al
Fisher test- Es%ll uRelsl

The mean of a sampling is denoted by -(sie.20oll Hrausa a3 s2ladidix1d 8 [ 1 Mark
]

1 q Q=

Degree of freedom is _-%Cl('i?ldl*"ﬂ HIAL zﬂaﬂ_ [ 1 Mark |

= n-—1



= n+1
= n*1]
= n*n

Which measure of central tendency includes the magnitude of scores?-&ﬁu AdBleil $UL HIUMHI
281201l dlaidl A4 82 [ 1 Mark |

Mean-H¥l$s
Median-Ht|¥
Range-fa.%dl?.
Mode-Hgds

When the values in a series do not have equal importance, we calculate the-2U 12 Ailui 3-1\@-[.1
AHlol Heed HRLddl otefl, UL A Ll HI2.... [ 1 Mark |

s Mode-H{gds

= Weighted mean-®lL[Rcl 42121

= Arithmetic mean-3159L(Qld U312l
= None of these-GUHiefls1¢5e1[€

divides the data into four equal parts.- HLl&dla ULR AH Lol ML El(‘{l‘@‘)d
$38.[1 Mark |

= Median-Ht{2|

. Quartiles-lltj?-l&l

= Mean-Htl$

= None of these-GUH e[l 51¢5e1[&

The coefficient of variation is a percentage expression for SALEetLs Hie
2sld1zledl wleieulsd 8. [ 1 Mark |

Standard deviation-UHL[Gld [dYydsi
Quartile deviation—u(i%lf%l [qude
Mean deviation-432121 [ ds

None of these-GUH e[l S18=1 (&

The average ,‘.’f squared deviations from the arithmetic mean is known as AHidR
Hlrdsell cadiyoal d0d wlauididi 41d 8 [ 1 Mark |

Quartile deviation - Ud&l(2l (G
Standard deviation - UHL(Qld [cAde]
Variance - [y

None of these-GUH e[l 51¢e1 (s

Which of the following measures of dispersion can attain a negative value? - oflAst1uiefl sul
ULRAIRUIU] oiS1R1eHS YL WIH 53] 213 82 [ 1 Mark |

= Mean deviation - 43R12L(AYEel
Range - (IR

Standard deviation - UHL(Qlc(dy e
None of these-GUHiefls1¢5e1[e

If AIRLINE is written as ENILRIA7, then RAILWAY will be written as - °fl AIRLINE ol
ENILRIA7 QWd i 211d 8, dl RAILWAY d3 duidiHi 214142l [ 1 Mark |

= YAWLIAR7
= YAWLIARS
= YAWILAR?7
= YAWILARS

Which number is wrong in the series 2, 6, 15, 31, 56, 93? - A&l 2, 6, 15, 31, 56, 93 Mi 58 vl
W12l 82 [ 1 Mark |



6

31
56
93

Which of the following is the odd one from the given alternatives? - w0 [dsciluiel
oflActiHiell sU [ANH B2 [ 1 Mark |

= Driving

= Diving

= Swimming
= Sailing

Arrange the following words in a meaningful sequence 1. Sun, 2. Rain, 3. Child , 4. Rainbow,5.

Happy
oflAoil 2A0el WYL sHUI dl6dl 1. YA, 2. dAULE, 3. WlAS 4. AU, 5. V2L [ 1 Mark |

9 19 T9 &

2

3’
27
4

5

b

2 2 2

N — N =
—_ W = A

3
’4’

4

3

N D b

5 5 5

The day before yesterday was Saturday. What will be the day after tomorrow? - L8 SlCGlell ¥ IIEL
(eq leAalR edl. 2Lddl sleteil [ead Sl 22 [ 1 Mark |

» Thursday - J>dI2

» Friday - 5dIR

= Wednesday - ¢{td[R
= Monday - UHdR

If the word 'LION' is coded as LMGJ. How is '"MILK' written in that code? - °lﬂ 'LION' Ql%a
LMGJ d3l3 5135 s2c1Hi 2119 dl. d s1sHi 'MILK' 3<l Jd dwid 82 [ 1 Mark |

= JKFL
= KLIM
= KILM
= [JGK

Arrange the following words in a meaningful sequence — 1. Selection , 2. Probation, 3. Interview ,4.
Appointment, 5. Advertisement, 6. Application

oflAeil 210Ela v1elYRL sHUI M sd) — 1. UA el 2. MlK2lel , 3. YAlLSId, 4. [(lHLS, 5. ANERUd,
6. ¥13%) [ 1 Mark |

Which of the following computer language is written in binary codes only? - oAt 1Hie]l 56
$112422 MINL §5d olIgeli] SLSUi QWi 82 [ 1 Mark |

» pascal - US4

= machine language - Heflet eIl
« C-3l

» C#

Which of the following is not a type of computer code? - of| Aot 1M jell sUl 51242 51Sell UsRR
o1e{l? [ 1 Mark ]

= EDIC

= ASCII

= BCD

= EBCDIC

Which of the following part of a processor contains the hardware necessary to perform all the
operations required by a computer? - WAARell o{lAciiniell sul GUI 5112422 GIRL Y3



A LM SIHII3L scUL HIR %3] ©1SAR S B? [ 1 Mark |

= Controller - gacﬂ

= Registers - R

= Cache - 52l

= Data path - seLule

Which of the following are physical devices of a computer? - §12|2ell elllds Gus:wl
oflAetiniell suL &2 [ 1 Mark |

Hardware - &1SAR

Software - msaaz

System Software - [R1eH AlsedR
Package - U 5%

When she was in the university, she wake up early in the morning every day [ 1 Mark |

should
would

will

would have

Near the natural history museum, there is a bridge the river Nile [ 1 Mark |

= above

= over

s off

= towards

Katherine was very tired yesterday, she didn’t go to the o [ 1 Mark |

= but
= then
= such
= S0

It is a long drive to airport. [ 1 Mark |

s the
= an
LI}
s

Srilanka is island. [ 1 Mark |

am
the
an

Section: Section-B

o ALULS [Astlel ALl AU [AStiels] V15152131 B Y eyd Rigid O - Integration of
Political Science with other Social Sciences Is a basic principle of [ 1 Mark |

UU2Lldls - Traditionalism
ddeldls - Behaviouralism
BelRdlE - Liberalism
Yl2-ddeldls, - Post Behaviorlism

nuf[E 512 V) AUIY GIRL HIcU el AR GIRL AL $AAE &1dl " 1L 518 S&[? - “A right is a
claim recognized by society and enforced by the state” who said this? [ 1 Mark |

= G28] - Laski
s Ol Yelsde - Bosanquet



= Y| - Rousseau
» ¢l - Green

dls2ulSlell Gaulr suteil Fldl HA & - The origin of democracy can be traced back to [ 1 Mark
|

ULlet 2{ls 21&2 AR - Ancient Greek City States
Hey st YHYIL0) - Medieval Period

Nlﬂ[;lfs Y3l - Modern Era

AUlHddle

_ &l 'd (R S15211' 2104 UA[Ad &AL Scil - The term ‘Globalization® was coined by [ 1 Mark |

Sudlef -Kaplan

(21211512 A(cl2 - Theodore Levitt
Wéei - Burton

U3l - Spiro

Hlold geail R C T R (I[ES N — ofl (vl B - The study of human group behaviour is the
definition of [ 1 Mark |

Yoil(ASilet - Psychology

HHINRLLRA -Sociology

¢ldR2LlLA - Geology

Gusdniell 518 «i(& - None of these

oflAeiiHiell 53 A% S ciAdlell Yl seii 1cd «1el? - Which of the following does not
fall within the preview of the political liberty? [ 1 Mark |

= Ud ¥ [Udlefl [dSIR. - Right to vote.
. Q&Qﬂ @5dlell (8512, - Right to contest elections.
s U101 211 5dlell W [ESIR. - Right to criticize the government.

= B[Rl WHE HI2 S12HI %dloll w[ESIR. - Right to move the court for the
enforcement of rights.Which of the following does not fall within the preview of the
political liberty?

AL vl MU Lol V) - Liberty and Equality are [ 1 Mark |

= Vs0{lAell YrS - Complementary to each other

s W 5ol A1 (AR - Contradictory to each other
s A 50{lo1 A18l WA 0i(td - Unrelated to each other

» GUYsdHiell 516 «i(& - None of these

eLRclY oit 1Rl W0 Wy RlvH e - ueaiudel [cRlyl stael vidlefl loialgeil

AHLd2L &L B2 - Which of the given schedules of the Indian Constitution includes the Provision
regarding Anti-Defection Law? [ 1 Mark |

89§ wlefy (U - Sixth schedule

s Aldy U{{'L%Lﬁl - Seventh schedule

. E.H‘;i, U{{Lﬁﬁl - Tenth schedule

s 31413 ey (U - Eleventh Schedule

"HOed HINY" ol Riegidell [AsiA sUL [sA141 &) &dl? - The doctrine of "Basic Structure"
was evolved in which of the given case? [ 1 Mark |

= Y4 BIID) =ld ([l 3 - The doctrine of "Basic Structure" was evolved in which of
the given case?

s 32ldleit MIcl 34 - Kesavananda Bharti case
s YUSY LRASAXe 534 - Champakam Dorairajan case
» JE5e1l®l 3 - Golaknath case



MLIRclY oitRElell WINE L WoBdeU (el - VoY Rld el AVTA w1011 A18) Aeiltd 82
- Which of the given articles of the Indian Constitution deals with the National Commission for
Scheduled Castes? [ 1 Mark |

5G4 343 - Article 343
594 355 - Article 355
5C¢H 338 - Article 338
5G4 333 - Article 333

Sloy [e1u3] vl s AL[AUd Slo21s2 sUL Yl sHI AU 21} D. - Hobbes Theory of Social
Contract is explained in his book. [ 1 Mark |

UldtilS - Republic

AUBSHIR - Prince

UMY AR - Social Contract
A(ci 18l - Leviathan

b@{ﬂddl HI2 dUIYU B -Conservatism Stands for [ 1 Mark |

CQGdQLE.ﬂ US1BL - Politics of Individualism

ddddl A UHleldlell [AUIR - Idea of Liberty and Equality

HZ‘&(&"ﬂ yellRe(d wnadl - Maintaining the Status Quo of Culture
GQ&H{L USRI - Politics of Neglect

oflAot1uiel] sl W18 AL SIAN MU Riegide] cdect «12l? - Which one of the following is
not an element of Kautilays saptanga theory of state? [ 1 Mark |

ng{ - Durga

(11l - Mitra
(A2l - Vishwas
5121l - Kosha

Aol ALY [dCoil (General will) b (2] o{lAsiiHiell sUL A1U] &2 - Which among the
following is correct about Rousseau’s Concept of General Will? [ 1 Mark |

s [sdofl diRdlAs §19L - A Person’s real will

s [Seldld 9891 BUR - A will above the Individual will
n 35 HIHL HIQLY - A Common Man

= GURLSd dHIM -All of these

o1 U] (s1B1eil Aeeiui «(lAotiniell 5131 pAvalea [Mqe] 2o Yue] d3 vilnwl 82 -
Who among the following identifies nationalism in terms of allegiance to the land as Pitrubhu and
Punyabhu? [ 1 Mark |

» 32(del €N - Aurobindo Ghosh

= .Sl ALARSR -V.D. Savarkar

. ?.Cﬂff(k"ll?l 2131R - Rabindranath Tagore
= W4 Al AU - M. N. Roy

«g5el 21011 Aol 8i¢ cdolal % AdllesiRalesil duldell isMd 530 AsIA B. UAIR GIRL Woldla

‘@)dcﬂ usel. w1 s1sl .‘sfvi? - “Only the mob and the elite can be attracted by the momentum of
totalitarianism itself. The masses have to be won by propaganda “. Who Said this? [ 1 Mark |

G.W.F. &4 - G.W.F. Hegel

W2l (4] AHA] - Antonio Gramsci
Y1) BSIdL - Mao Zedong

@31l 212052 - Hannah Arendt

WidRAPIY Aoitlui sUl (G214 Yoneyd Ae1s1d HInULa pARL] BNNW e [Ed 2418

eslsclleil ALY 52 82 - Which Approach in International Relations tries to link the fundamental
institutional structures with state identity and interests? [ 1 Mark |

» B&lRdlS - Liberalism



s [o1A)-RU[E»Y - Neo-Realism
n YalldLlE - Constructivism
n [o1A)- HISHAIE] - Neo- Marxist

AR TRITEN .‘S{l g-2ldeiorl Udd oieil? - Which of the following is not an e-governance initiative? |
1 Mark |

» GHIl (UMANG)
= NRuM

= 401856 Jdl - Mobile Seva
= PayGov

PllRdell e AN Ardledl GUYULIL-— 53] 213 ® - The Parliament of India can Make use of
residuary powers [ 1 Mark |

s 635 UHA - At all times

= HA ugﬂu WU [ eHY Lo - Only during national disasters

= YHIA AYIY 52152] [HALel - Only during national emergency

s YU g 1RQ(1Y 521521 €2(Hlel - Only during Constitutional crisis

o Yog, Ul AR\ dRAell [Aaleledl [ARlU sdleil el1dsdil Al vielddeil Al @601 211Q B -
The power of Supreme Court of India to decide the disputes between the Centre and States fall
under [ 1 Mark |

s YALESR W[ES51R8)A - Advisory jurisdiction

= Gy 1RQ01U 4 (51284 - Constitutional jurisdiction
s WUlG WG58 - Appellate jurisdiction

s Y1 (Y5128 - Original jurisdiction

oilAstiuiell 53 eticllU vitRBleAl saH 51 gl2L etRedlY (a2l «il(deil Hdiels Rigid a3

213-[‘1.(1[3-[1 ?J{IQZI', 82 - Which of the following is prescribed by the Article 51 of the Indian
Constitution as the guiding principle of Indian Foreign Policy ? [ 1 Mark |

= dHH ?.lawﬂ ULR(21S Hui[Sddl Ul M1eR - Respect for territorial integrity of all nations

= BidRAEIY 2ild w1 YR8 WlRilsel 4l ANNARl - Promotion and maintenance
of international peace and security

n (o121 52061l UALR ol 21t U [of] 1421512 - Promotion of disarmament and rejection
of arms race

s (0ol UVl Wid[RS WIddlHi eWd(]3] - Non — interference in internal affairs of
other nations

__[Ay a1 12 A5 [dstietel adesaail 216114 [AsAladiHi w1ei) Ed - The
behaviorist approach to the study of political science was developed as a protest against [ 1 Mark |

» B [dSLAS [CIOUH. - The historical approach.

s (511559 W(IAH. - The philosophical approach

. ClQ[dl(“-lS—%i%ﬂlSA[Zl (G - Descriptive-institutional approach
= GURASd dHIH -All of these

WU Sl WRUR &G Ay A1D D', Vil [e1deol olA Yol AUMA B - “It is better to be vague
than irrelevant’. This statement explains the following [ 1 Mark |

» YlR2-ddRSdlE - Post-behaviouralism
= ddeidle - Behaviouralism

. ESRIHSCALE - Positivism

s HoMHddLE - Empiricism

sl sl dls2AlEledl YLS1E1R AL B2 - Which Act is considered the watch dog of Democracy?
[ 1 Mark |

s (MdSdell (e 512 W [d 1AM - The right to property Act

= Rddlell M [es12 W e [UY - Right to Live Act

s Hil&dl vilas12 vild (AN - The Right to Information Act
» {48l ¥ 5 UL «1[S - None of these



oit 12816l SIUEL oll UuALd QWS S1CL B - Who is the celebrated author of ‘Law of the
constitution” [ 1 Mark |

v).dl. (Sl (DICEY) - A. V. Dicey
SHol §19<1R - Herman Finer

WIR.Y). A2 - R. G. Gette

5. SUR] [Aglud] - F. W Willoughby

81U [Astictell adysaail (6114011 ¥116 Riegidl ALY d 241 d vl D: - Eight

principles of the Behavioral Approach of political science is generally known as: [ 1 Mark |

[Ad(ddl - Regularities

2l¢, [AStlel - Pure Science

USIUQIA) - Verifications

uﬂﬁgs UlYl - Intellectual Foundations

_{P] §E.?.(ﬂ [\?sc'l%L{s'lHi $ild %18 - The age of saw a revolution within natural philosophy |
1 Mark |

» YU [RBLL - Reformation

. 1j,°1b°6°2ﬂ¢4°1 - Renaissance

» 2)(d (ENLIGHTENMENT)
. Hlﬂ[:'l.‘s Y3l - Modern Age

&l id-2AL URNEI] 2eulUsil &S 213 & -An inter-state council may be established by [ 1
Mark |

dSl UYlel - The Prime Minister

Hldell Hu] o [Y1¢{121 - The Chief Justice of India
ztgu[& - The President

?_lE’;lll [d514 URNE - The National Development Council

UdldeilMi «ilAoil 2A0£1ell AU $H & - The correct sequence of the following words in the
Preamble is [ 1 Mark |

= HIdelH, Gl52ALS], YHIXALEL [WARIMELRLS, UMATLS - Sovereign, Democratic,
Socialist, Secular, Republic

s Aldeil, AUl [CeiMivelRls, dl52ALE], UAUTLS - Sovereign, Socialist,
Secular, Democratic, Republic

 HldellH, YHI%dLE], dlsULS], (AR IUELRLS, USSIUTLS - Sovereign, Socialist,
Democratic, Secular, Republic

s B [Hief A5 WL «1[E - None of these

HIsAALE] B[EIHUI UL . 8 - “State’ in Marxist approaches belong to [ 1 Mark |

YU 2 SUR - Super structure
Y[ - Base

HEIH HINY - Middle structure
siludgl Hl01Y - Lower structure

Uleld L[t s1R411 Hu| Ald US] sula AU 2419 B? - Which is regarded as one of the principle
source of human rights? [ 1 Mark |

Hloid ¥ [Es11e(] Ald[AS €lNBLL - Universal Declaration of Human Rights
PETA

VY5l AL - United Nation
Nld%{lkﬂu U (€] - International Treaties

HISH HIZ, A% A SIHERell AN BLe] 315 1Yol B - For Marx, state is an ‘instrument’ of
exploitation of the workers by the [ 1 Mark |

. H\S'IClli:l qol - Capitalists Class
« d501 541 - Working Class



. §C'n°‘l - Aristrocrat
» Hlele13] - Zamindari

o MRAUIL UM auid 8aAs2l[els cl[221 HRilel (EVM)ell GUULIL $UIR LM B1c) &dll. - When
Electronic Voting Machines (EVMs) were used for the first time in India [ 1 Mark |

1982
2004
2009
2014

o [asdueily dgn 1aus' «fl ([detideil «flAstiniell suL usiRell AB[L 18 Aoiltdd 8 2 - The
concept of ‘credible minimum deterrent’ relates to which of the following types of weapons? [ 1
Mark |

5156 - Chemical
(s - Biological
YRHILY] - Nuclear
W52 MIELRd - Space based

o 2ld Yeg uedleil YIrMi (G1e1-291S1Q1ALE] ANAN oAl YRAINcdcllof [A2ANL Sl HI2 oY olltel

$loie V1§ UL’ (NNCP) <ll (AU 1R S18l A 1RIL? - Who gave the idea of the New Northern
Concert of Power’ (NNCP) to analyse the relevance of non-aligned movement in post- cold war era?
[ 1 Mark |

= WY AY. A%l - M.S. Rajan
= A}.SL RY[el - S. D. Muni

= 4YSE g,(ﬂ - Muchkund Dubey
= 2.YL2AYLL- A.P. Rana

o MRALY 6{tRLell sU] WA RALRLS UlSAUAL AL A5N1AL B? -Which article of the Indian
Constitution is associated with judicial activism? [ 1 Mark |

= 14
= 21
= 18
= 25

o UURALA' Urileil vALE HINE & - The concept of ‘traditional’ authority involves [ 1 Mark |

s sdul GIRL AHell aRUILd Retldetl w112 Arilell GUULL - Use of authority by
virtue of their inherited status by persons

(YU A (YU 2 1E]ot Acilell GUYNIL - The exercise of power subject to rules and
regulations

s (S GIRL g LRIt AL IR 2ASclell GUANIL - The use of power based on the basis of
magical qualities by a person

s QRAUPLA €91 Yoo Al lell GUULL AH MeUdet QUIR Adl6etell BdeluHi

WAL IR ANILE Lol - The use of power/authority as per inherited status as well as
extraordinary contribution to the history of advanced business organisation

o olAciimieil 5131 etRAMI oil(d 2111l UeIH A8l SAl/D? - Who among the following was/is
the first chairman of NITI Aayog in India? [ 1 Mark |

» W[HdIM Slodt - Amitabh Kant

= 3R(de YL - Arvind Pangariya
. °‘l€°‘§ H1€l - Narendra Modi

s Ysiyl&el (i€ - Narendra Modi

o oflAstimiell sy M sLclol AHAUI HIRAMI 21U %e1ell US[ £21[A B? - Which of the following
indicates the nature of planning in India in Contemporary times? [ 1 Mark |

» dUNS ¥ [A)%el - Annual Planning

. ?s[;(f&l W [A\%¢l - Centralised Planning

= URNed A 1A\%et -Perspective Planning
» YyANTY W R1ose - Five year Planning



oflAst1uiell S1Q 2n&? oil[dof glegoile H13d 9% 54 D - Who among the following has presented
the incremental model of public policy? [ 1 Mark |

&13] §111¢ - Henry Fayol

Q-HC'%‘I- 9. [GeSuMY - Charles E. Lindblom
55 SH&Y,. [R9Y - Fred W. Riggs

5(As 92l - David Easton

EARETRITEN .‘S{l Hl?j, o12l? - Which of the following is not correct? [ 1 Mark |

2UB 3 HoldslL(15 vALE B - Nation is psychological concept
% Esldeﬂ w14 8 - State is legal concept

UBdle N ll!}f’i 4&Ql B - State is legal concept

AU ol 2% As-2[Hel A B - Nation and state are co-terminus

EAD ETRITEN .’slj, ([autet ung 82 - Which one of the following is incorrect statement? [ 1 Mark |

n AR50 W2 Weldais] wid2AYIUSWL - Globalisation means internationalization of
cconomy

» AR5 Aeq Hﬁd’iﬂ Nid?.?.lglzlS?_'%l - Globalisation gives emphasis on market
economy

s AR5 WAl WAV HIZ AidRAYIY AL A %o w1 B - Globalisation gives

rise to international institutions to supervise economy

v AFd501 A5RId As(dA s1uMH] visliadie ddgl 421 B - Globalisation tends to
perpetuate parochial culture

Adcctefl catvl "Aaosell QL v (A5l GRils v vl (AsdiA AUl8 511 sl WRd

scloil eudl” did S18l 5312 - Who defined leadership as “the ability of a manager to induce
subordinates to work with zeal and confidence”? [ 1 Mark |

] 8]"'(336 u{a] W1'Slald - Koontz and O’Donnell
= 223 WllS - Chester Bernard

SEENTRV] {s-laa - Chester Bernard

= Ul 52 - Peter Drucker

po2a2leld AR el 1o DAt 5UIR Yollpp2S AAoH B el 18D 2Astoll [cl2AR 21oo] viol 2 -
When did International Labour Organization become a specialized agency of the United Nations
Organization? [ 1 Mark |

= 1945
= 1946
= 1947
= 1948

MRAY oIl 58 sau ARU[da d2EgsH tlsIR ULsdleil Util Uelel 5 82 - Which Article
of the Indian Constitution provides power to the President to promulgate ordinances? [ 1 Mark |

= Articlel23
= Article 222
= Article 221
= Article 223

ysd ﬁ-ltq.lddfl 3edl us [l s12ey szl Q-LEIU{EQ & - How many prakrities of Mandal Theory
of State are enumerated by Kautilya? [ 1 Mark |

= 60
= 68
= 70
= 72

elid gLt 2741 M1 2019 o1l A% S| A1Ad WeZl-Jd 182 [HA19d ulatal dl3
BLNWIY 8. - The Anti-Satellite Missile Test conducted by India on 27th March 2019 is known as |
1 Mark |

» [H9lel WidLR& - Mission Antarriksh



= [H2lel ®{12d - Mission Bharat
= [H2let 2U[Sd - Mission Shakti
= (H2lsl Y - Mission Space

o olAciiniel 5¢ w15 vilZl F1S] B2 - Which one of the following is an incorrect pair? [ 1 Mark |

= N[ Yle: QQHQ - Melting pot :USA

= G50ldL Ul2: 9252134 - Boiling pot : Israel
n U4LS W1GE: MIRd - Salad bowl : India

= 01 dl2Sl: Uk - Fruit bowl: Uk

o WidRs AUIR B - Internal communication is [ 1 Mark |

GUeil d§ % - Upward only

Y14 oflA d$ - Downward only

U5 GUR Wl «f13 - upward and downward only

HIA GUR ol o{l3 - upward, downward and across

o BEAIY UI2 Ueel Hlsel Ul s[H2leteil [[Augs sA1Mi v1d] &dl - Madan Mohan Punchhi
Commission was appointed to study [ 1 Mark |

3s°'(.‘-?.l°&l it - Centre-State Relations

%t lid3[6°1 - State Reorganisation

YU Al 21% - Panchayati Raj

Hd E{%dlaﬂ A1Hisel - Delimitation of Constituencies



